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B H AT S 2 FEE 0 3 EE
R R | R4EE R eI | R4EL R WL | RI4EH
T ET R B 300, 230, 670 38.3 100.2 | 294, 841, 738 29.5 98.2 | 288,228, 460 32.8 97.8
M55 58 7,125,178 0.9 104.9 7,494, 136 0.7 105. 2 7,649, 310 0.9 102. 1
- EI 22 Ak 4 265, 389 0.0 45.2 280, 084 0.0 105.5 201, 386 0.0 71.9
B 24 B2 A 4 1,358, 191 0.2 114.7 1,301, 815 0.1 95.8 1, 989, 967 0.2 152.9
RSP T A5 R A A+ 4 743, 685 0.1 78.2 1,415,172 0.1 190. 3 2,163, 167 0.2 152.9
Hi 7 BB A4 32, 934, 942 4.2 97. 4 40, 154, 802 4.0 121.9 43, 638, 131 5.0 108.7
=L 7R AR 4 1,157, 682 0.1 101.0 1,076, 277 0.1 93.0 1,218,990 0.1 113.3
B B BB AS 4 1,374, 705 0.2 56. 1 420 0.0 0.0 109 0.0 26.0
H ) BB R R AR B A A 4 341, 299 0.0 - 749, 653 0.1 219.6 759, 598 0.1 101.3
ENFEB A4 2,461, 102 0.2 - 4, 286, 066 0.5 174.2
5 R A2 A 4 5, 328, 172 0.7 | 381.6 2, 060, 225 0.2 38.7 5,833, 158 0.7 283.1
[E A HR (bR S T T T A Bh Al A8 o 4 137, 528 0.0 107.8 135, 141 0.0 98.3 130, 993 0.0 96.9
Hi 5 A AR 125, 987, 028 16. 1 100.8 | 129, 158, 551 12.9 102.5 | 144,015, 125 16.4 © 111.5
AR LA AR A AT 4 202, 841 0.0 93.6 212,581 0.0 104.8 196, 923 0.0 92.6
4 - ARe 6, 468, 541 0.8 84.2 5,173, 302 0.5 80. 0 5,507, 620 0.6 i 106.5
{3 HEE 9, 650, 440 1.2 86. 5 7, 393, 625 0.7 76.6 7,342,019 0.8 99.3
Tk} 3,231, 479 0.4 100. 2 2,985, 102 0.3 92. 4 2,995, 334 0.3 100.3
[ e 3 4 97, 133, 591 12.4 105.5 | 310,412, 125 31.1 319.6 | 173,518,001 19.8 55.9
R H 4 47, 862, 381 6.1 103.7 | 49,461, 327 4.9 103.3 | 51,775,639 5.9 1 104.7
M EEA 2,549, 704 0.3 86. 0 2,571, 125 0.3 100. 8 3, 065, 858 0.3 119.2
P4 6, 192, 968 0.8 199.9 8,849, 213 0.9 142.9 9, 697, 640 1.1 109. 6
FE YN 27,621,117 3.5 101.4 | 26,291, 293 2.6 95.2 | 21,166, 180 2.4 80.5
ety 19, 553, 655 2.5 109.9 | 21,079,435 2.1 107.8 | 28,250, 182 3.2 134.0
FEULA 16, 309, 728 2.1 101.2 | 21,301,639 2.1 130.6 | 17,530,394 2.0 82.3
5 70, 899, 067 9.0 92.9 | 62,378,385 6.2 88.0 | 56,457,682 6.4 90.5
X 784, 659, 981 100. 0 101.0 | 999,238,268 © 100.0 | 127.3 | 877,617,932 | 100.0 87.8
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